By S22 AR11B2FERTERSENEF AT ABREIR

el #5Al SERER |BESR | EEA BREVEF) |BAERE |SERERE SeRER 2 K (K)
ZANE IEEVAE RIEE%E
=H+1) )
=l EARR 42 26 26 13  61.90% 26 24 2| 100%
ETE % 21 13 13 7]  61.90% 13 12 1|46 100%
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BB % 24 9 9 5| 37.50% 9 8 1|1 100%
R E R 66 35 35 17| 53.03% 34 32 2| 97%
BEEES 6 4 4 2 66.67% 4 4 0|1F4 100%
EEES INEE 24 11 11 7|  45.83% 11 9 2 100%
B4 6 3 3 2|  50.00% 4 3 1|51 100%
yay:| 9 3 3 3]  33.33% 3 3 0[1E3 100%
B! 4 2 2 1| 50.00% 2 1 1|1 100%
T4 5 3 3 1|  60.00% 2 2 0[1E3 67%
oh ] £ 44 B8 24 10 7 7 2 70.00% 7 7 0|1E7 100%
ENE % 7 5 5 o 71.43% 4 4 0|1E5 80%
B R ESM I T ER BN 19 8 8 6| 42.11% 8 8 0|1E8 100%
45 179 105 103 43 57.54% 100 94 6| 97%

XARBEBENEESE EHE - 111.09.12
$EEVR (F)=1EEVAB(D)/5e AR & A Z(B)
R (K) =52 R E A B(G)/IEEAE(D)




